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If the input to.an LTI system is u[n], the output is y[n] = (1/2)*! u{n].
(—) (6%) If H(z)/is the z-transform of the system impulse response, find its pole, zero, and the region of

convergence.
(=) (5%) Find the impulse response{ A[n])of this LTI system. "
(=) (4%) Is the system stable? Is the System causal?
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(b) (5%) Evaluate the convolution sum: y[n]= (u[n + 3] —u[n -1])*u[n - 4].
LWih) = UTA) K UCh-¥) _ (L cn-1Y k W(h-¢)
277 5" r o
/f\NN\»N e B U . lw wk -
I~ g {—3 4 § =gF
o <)
< 2
_ o _ [
) =]
N plw 5
w\_ = v n~| n-14 b \\NlL;
L / J L
C,?&n Cl: weny  — mriv Ulh ]






Problem 3 @
106 5 Bt R G SR EL 2447

Cca mn\,&\

= (15%) <

(a) (10%) Find the frequency response (5%) and impulse response (5%) of the discrete-time system
described by 8y[n]-2y[n-1]-y[n-2]=x[n]+ x[n-1].

(b) (5%) Draw ﬁm_.ann form II :ﬁv_gm the systemin (a).
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J\ ~ (15%) When the input to uwmmcmmm LTI &ﬁ@ 1s x{n]= iWﬁWv

-1
transform of the outputis Y(z) = . i _ —;
(A-z7)Y1+0.5z7)1-2z7)
(a) (5%) Find the z-transform of x[n]. H(2) |

(b) (4%) What is the region of convergence of }4)?
(¢) (4%) Find the impulse response of the system.

(d) (2%) Is the system stable? Wed  stell o

.

n

4

u[n]- Mwa u[-n—1)], thez-






1LY
\AE

/|l

\—+ 3

—

S | ot

e






o L
Cd ) gun,v

O(AA ) ( o ey (- 2 1

T 1)
L U v A \
= 2! \~e.5y ™ ﬁ.lMﬂunL
WD b ) ey “(3y



Problem 5 @
1045 RN RE L4

P9 ~ (15 pts) Let MN.V - z” and .va = 057
P 1-2.577 4 72 1-22" 1 0.7522

Al.:wvavﬂago..am?s% 3=<2.ma=8mo¢§?vw
domain sequence ##). h /L) V\P

(=) (3 pts) Find the region of convergence so that¥(z) is/causal. Also, find the corresponding time
aosﬁsmgguoaug.v:?_ T

- Answer the following questions:

‘ Iso, find the corresponding time
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